


‘ Construct a Perpendicular Bisector to a Segment I

1) Using a straight edge, draw a segment on your paper.

2) Using your compass, construct its perpendicular bisector.

‘ Construct an Angle Bisector I

1) Using a straight edge, draw an angle on your paper.

2) Using your compass, construct its bisector.



Theorem 5-2: Perpendicular Bisector Theorem I

‘ Theorem 5-2: Perpendicular Bisector Theorem I

If a ptis on L bisector of a seg.




Theorem 5-2: Perpendicular Bisector Theorem I

If a ptis on L bisector of a seg.
then it is equidist from endpts of the seg.

‘ Theorem 5-2: Perpendicular Bisector Theorem I

If a ptis on L bisector of a seg.
then it is equidist from endpts of the seg.

Given: CD L E ,/’, \\\\ y
CD bisects AB ,/% N
—_ Ll | P




Theorem 5-3: Conv of Perpendicular Bisector Theorem I

If a pt is equidist from endpts of the seg.

Then it is on _L bisector of that seg. 4C

Given: CA =CB ,)X ‘/5/\\
— ‘,, . —l : \\’.

Then: CD 1L AB A "D ! B

ﬁbisects AB




1) CA=?

2) DB="?




Defn: Distance from a pt to a line I
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‘ Defn: Distance from a pt to a line I

The dist from a pt to a line



Defn: Distance from a pt to a line I

The dist from a ptto a line

is the len of L seg from pt to line.
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Defn: Distance from a pt to a line I

The dist from a ptto a line

is the len of L seg from pt to line.

dist fm pt A to line [= AB

‘ Theorem 5-4: Angle Bisector Theorem I




Theorem 5-4: Angle Bisector Theorem I

If a ptis on an £ bisector
then it is equidist from sides of the £.

‘ Theorem 5-4: Angle Bisector Theorem I

If a pt is on an £ bisector C
then it is equidist from sides of the £.
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Theorem 5-4: Angle Bisector Theorem I

If a ptis on an £ bisector C
then it is equidist from sides of the £.

Given: AD bisects ZCAB

CDLAC

BD LAB A
Prove: CD = BD

‘ Theorem 5-4: Angle Bisector Theorem I

If a pt is on an £ bisector C
then it is equidist from sides of the £.

Given: AD bisects £ CAB

CDLAC

BD LAB A
Prove: CD = BD

ZCAD =~ £ZBAD defn £ bisector
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‘ Theorem 5-4: Angle Bisector Theorem I

If a ptis on an £ bisector C
then it is equidist from sides of the £.

Given: AD bisects ZCAB

CD1AC

BD LAB A
Prove: CD = BD

ZCAD =~ £LBAD defn £ bisector
LZACD = LABD allrt4's =

‘ Theorem 5-4: Angle Bisector Theorem I

If a ptis on an £ bisector C
then it is equidist from sides of the £.

Given: AD bisects ZCAB

CDLAC

BD LAB A
Prove: CD = BD

ZCAD =~ ZBAD defn £ bisector
ZACD = ZLABD allrntd's =

A AD reflex POC
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| Theorem 5-4: Angle Bisector Theorem I

If a ptis on an £ bisector C
then it is equidist from sides of the Z£.

Given: AD bisects ZCAB

CD LAC

BD LAB A
Prove: CD = BD

LCAD =~ £ZBAD  defn £ bisector
LACD =~ LABD allrtd's =

AD = AD reflex POC
ACAD = ABAD AAS

| Theorem 5-4: Angle Bisector Theorem I

If a ptis on an £ bisector C
then it is equidist from sides of the £.

Given: AD bisects ZCAB

CDLAC

BD LAB A
Prove: CD = BD

ZCAD = £LBAD  defn £ bisector
ZACD = LABD allntd's =

AD ~ AD reflex POC
ACAD = ABAD AAS
CD =~ BD CPCTC
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Theorem 5-4: Angle Bisector Theorem I

If a ptis on an £ bisector C
then it is equidist from sides of the £.

Given: AD bisects ZCAB S
CDLAC
BD LAB A

Prove: CD = BD

ZCAD =~ ZLBAD defn £ bisector
ZACD = LABD allrtl's ~

AD ~ AD reflex POC
A_CADiABAD AAS
CD = BD CPCTC

QED

‘ Theorem 5-5: Converse of Angle Bisector Theorem I

If a pt in the interior of an £ is equidist from sides of the £
then it is on the £ bisector.
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X=7?

1)KD =7
2)x=2 00
3) mLDEH = 2 B+ (1429
Yo + Y0
3

back...
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L5-2 HW Problems

Pg 251 #1-25,
35-39 odd,
44, 46, 50-52
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